
 

                    
 
 

Vendor: Juniper 

Exam Code: JN0-691 

Exam Name: Junos Troubleshooting 

Version: DEMO 

 
 
 



★ Instant Download ★ PDF And VCE ★ 100% Passing Guarantee ★ 100% Money Back Guarantee 

 

                                                                                
Get Latest & Actual JN0-691 Exam's Question and Answers from Lead2pass.                                 
http://www.lead2pass.com 

2 

QUESTION 1 
You must view the /var/log/messages file from the operational mode and filter only information 
related to the ae0 interface. The ge-0/0/0 and ge-0/0/1 interfaces are member links of the ae0 
interface. 
Which command would you use to view this information? 
 

A. show log messages | match ae0 

B. show log messages | match "ge-0/0/0 | ge-0/0/1" 

C. show log | match ae0 

D. show log message 

 
Answer: A 
 
 
QUESTION 2 
When using change-control processes, which three actions must be considered? (Choose three.) 
 

A. Coordinate scheduling that will be least impactful to production. 

B. Coordinate scheduling that works best with the individuals involved. 

C. Perform testing in a production environment prior to change-control. 

D. Formalize the request based on company policies. 

E. Balance troubleshooting needs with productions risks. 

 
Answer: ADE 
 
 
QUESTION 3 
Referring to the exhibit, what happens to traffic sent to unknown destinations? 
 

 
 

A. Traffic to unknown destinations will be silently discarded. 

B. Traffic to unknown destinations uses the ge-0/0/3 interface. 

C. Traffic to unknown destinations uses the ge-5/0/3 interface. 

D. Traffic to unknown destinations will be rejected. 

http://www.lead2pass.com/JN0-691.html
http://www.lead2pass.com/


★ Instant Download ★ PDF And VCE ★ 100% Passing Guarantee ★ 100% Money Back Guarantee 

 

                                                                                
Get Latest & Actual JN0-691 Exam's Question and Answers from Lead2pass.                                 
http://www.lead2pass.com 

3 

 
Answer: B 
 
 
QUESTION 4 
An engineer upgraded a router to an incorrect version of the Junos OS and performed the system 
snapshot function. 
Which two actions would return the system to the original version? (Choose two.) 
 

A. Downgrade to the correct Junos OS version and perform a system snapshot. 

B. Rollback the Junos OS version and perform a system snapshot. 

C. Reboot the router using the secondary media and perform a system snapshot. 

D. Reboot the router using the primary media and perform a system snapshot. 

 
Answer: AC 
 
 
QUESTION 5 
To protect the Routing Engine of your Junos device from denial-of-service attacks, you created a 
firewall filter. Where do you apply the firewall filter? 
 

A. input on the fxp0 interface 

B. output on the fxp0 interface 

C. input on the lo0 interface 

D. output on the lo0 interface 

 
Answer: C 
 
 
QUESTION 6 
Which monitoring protocol allows you to securely monitor Junos devices? 
 

A. SNMPv3 

B. SNMPv1 

C. SNMPv2c 

D. SNMPv2u 

 
Answer: A 
 
 
QUESTION 7 
Which statement is true about an operational interface that has been deactivated? 
 

A. The interface is admin down and link up. 

B. The interface is admin up and link down. 

C. The interface is admin up and link up. 

D. The interface is admin down and link down. 

 
Answer: D 
 
 
QUESTION 8 
Which two statements are true about nonstop active routing? (Choose two.) 
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A. Routing information is saved on the backup Routing Engine. 

B. Routing information is not saved on the backup Routing Engine. 

C. You must enable GRES for nonstop active routing to function correctly. 

D. You must enable graceful restart for nonstop active routing to function correctly. 

 
Answer: AC 
 
 
QUESTION 9 
Referring to the exhibit, you must clear a user session that is not responding.  
The user is logged in using the console. 
 

 
 
Which session must be cleared? 
 

A. TTY session p0 

B. TTY session p2 

C. TTY session p1 

D. TTY session u0 

 
Answer: D 
 
 
QUESTION 10 
You are asked to configure your MX480 device to flag a remote DTE into loopback mode. 
In which hierarchy would this capability be configured? 
 

A. [edit interfaces <interface-name> otn-options] 

B. [edit protocols mpls] 

C. [edit interfaces <interface-name> ether-options] 

D. [edit protocols oam] 

 
Answer: D 
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